A cat measures 76 cm from its nose to its tail.

76 cm

The length of a lion is 3 times as long as a cat.

How long is a lion?

1. The length of a swimming pool is 25m.
Rosie swims 400m.
How many lengths has she swum?

. Mo has 1 litres of orange juice.
He drinks 600ml.
How much orange juice is left?

. A parcel weighs 125¢g
How much do 3 parcels weigh?

. Jake has 2 litres of orange juice.
He drinks 800ml.
How much orange juice is left?

. Natalie rides 3.2km per hour.
How many kilometres does she ride in 4 hours?




An Olympic racetrack is 400
metres all the way around.

a) Jack runs 2 laps.

How far does Jack run?

b) Rosie runs 3 laps.
How far does Rosie run?

Write your answer in metres and kilometres.

c¢) Amir runs 4 km.

How many laps does Amir run?

d) Eva runs 10 km.

How many laps does Eva run?



